Dihybrid Cross

Name:__________________________________

Practice Problems

Period:____ Date:________________________


1. In guinea pigs, black coat is dominant to white coat and short coat is dominant to long coat.  You decide to mate your two guinea pigs together to see what offspring they produce.  One of your guinea pigs is purebred for short, black coat and the other is purebred for long, white coat.  What are the phenotypic ratios of offspring produced by this F1 cross?
	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


2. You decide to mate two of the hybrid guinea pigs produced by the last cross to see what you get.  What are the phenotypic ratios produced by this F2 cross?

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


3. Now you have so many kinds of guinea pigs that you decide to go into business and become a breeder to make some extra cash. It seems that there is a higher demand for long black coats than any other phenotype.  Unfortunately, you have already sold all of your guinea pigs with long, black coats and don’t have any left and you need to produce more!  Which two guinea pigs from the rest of the F2 cross would you choose to breed to maximize the number of guinea pigs with long, black coats?  Support your explanation with a dihybrid Punnett square.
	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


